Exit Problems - TAKS Objective 1 - 8.1A Comparing Rational Numbers

31 Several stores are having sales. The prices are

2 e 1 7 .
reduced by 62.5%, 3 75%, 3 and 10 Which
list shows the price reductions from greatest
to least?

p L 2 7
A T75%, 62.5%, 3 3 10
N I T
B 75%, 10° 3 62.5%, 5
75, - o L 2
C 75%, 10° 62.5%, 57 3
7 s 2 1
D 75%, 10° 62.5%, 39
. . 2 3
25 Which fraction is between 3 and Z?
1
A =
2
3
B —
5)
5
C =
7
7
D —
8
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Exit Problems - TAKS Objective 1 - 8.1A Comparing Rational Numbers

14 Which measurement is greater than
3

'g inch?

F 1_16 in
G 1_36 in.
H -—in
J % in.
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